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Valjn 019'0 .wTNN 019'VN 7w (mutability) IVan a7 002NN NIk 72

1'RY .NXNDY INKRT7 179 D'xYN DY DR NNRYWY [N K7W 019'0 XIN (immutable)
NYAIPN NI'RYI NYAIEN X0Na 0'wnnnn StringBuffer -1 String n'o19'on nx 7120na
JITNNn?
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PYUIMN 7V V1IN 1I'RY " 019'0 IKNY? MutableRational pwinn nx nman 2
770 DNY 2 9'wo 1 N7RWA DMIvyY D'NNYN 72 U NINMN Nimmnn X 707
TVI'N DIZN2 019'0N W (abstract state) VWOMN A¥NA NX ['X7 W' .pUIMNN
INIYAYA DX ['¥7 U' DNYAN TNX '72 12,2 1D .7wInn DTN 7un )2Y
.(Mnwn NN 2un nyna tIx') VYOINN A¥NN NNV

'0'N2N 02N YNNWNYT [N VYWOINN 2¥NN 1IKN]

NNWYN YIX INKRY DXYN 7¢ '012170 2xnn — this
<exp> 7w vYWOINN a¥nN - AF(<exp>)

NNWN YIX1 197 <exp> 1 \ 2¥n — $prev(<exp>)
NN 7w TNIMN 1w — $ret

// abstract state:

public interface MutableRational {
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PYImMn 7y vaipn *21¥) 019'0 NIXN? ImmutableRational pwinn nx NTan LT
770 DNY 2 9'wo 1 N7RWA DMIvyY D'NNYN 72 U NINMIN Nim'mnn DX 707
TVI'N DIZNA 019'0N W (abstract state) VWOMN A¥NA NX X7 W' .pUIMnN
INIYAYNA DX ['¥7 U' DNNYAN TNX '72 1,2 1D .wInn DTN 7un 12Y
.(Mnwn NN 2un nyna tIx') VYOINN A¥NN NNTYA

:D'N2N DN WNNWNYT7 [N UWDINN 2¥NN TIXN]

NNWYN YIX INKRY DXYN 7¢ '012170 2xnn — this
<exp> v vYWOINN 2¥NN - AF(<exp>)

NNWN YIX1 197 <exp> 1 \ 2¥n — $prev(<exp>)
NN 7w TNIMN 1w — $ret

// abstract state:

public interface ImmutableRational {




:T"N o0n MTovon 11 nn 8 Ty

niTim 18 ,3 n'ixw

Tij7 7751 Nt 7y 019'v aix? SimpleRational nE7nnn NX wnm 2'00 N1DNNN
N2N NRIYNN

public class SimpleRational implements ImmutableRational {

private int num;
private int denom;

public SimpleRational(int num, int denom) {
this.num = num;
this.denom = denom;

}

public boolean equals(SimpleRational other) {
return num==other.num & & denom==other.denom;
}

// the rest of the class...

.equals NNWN 7 0'9011 D'YIN'A N7'DN NI'KR NPNnn
NN NP'TAN NE7NN NI 2'00 2ND YINMN NRIDY DX 21T7 1

public class TestRationalEquality {

public static void main(String[] args) {
SimpleRational r1 =new SimpleRational (1,2);
SimpleRational 12 =new SimpleRational (1,2);
ImmutableRational ir]l = new SimpleRational (1,2);
ImmutableRational ir2 = new SimpleRational (1,2);

// HERE

7¢ main-n N'¥2192 NTANYT [N DXRN 1YY NIXAD TN DN DNKR 70 1y
nNworn nx 1Mo .// HERE nvnn nipna TestRationalEquality np7nnn
NOIVN N'NNY IR L(ARAWN NN 127X LD DKR) N'X7'9N017 NIR'AY 2NN DX DARNDNAN
NN YYD DX) NP NN Y TN IR, (D20 TR 1YY ]D DX) DX
12 DX) equals NNWN WIN'M2 Ak IUN* IR YN TIRgRY IR (R09TNN V79 N
.(Axan N2'0 NI NODTAN V7D NIFMY NN MK NN L,NODTAN VYD NN NN 1Y

System.out.println(rl.equals(r2)); N

/ (09T nn) |'Pn TR / (n2'on nn) ¥ m noivn / (?'nn) nx7'onip XY
(7a8an NO'X ?09TIN NIFNYT MK NN 709TIN ) AR QUINN ' TIR
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System.out.println(irl.equals(ir2)); a

/ (09T nn) |'Pn TR / (n2'on nn) nx m noivn / (?'nn) nx7'onip XY
(?axan N9'X 209TIM NI'NY WMXK NN 709TIN NN) AR QUIND |'PN TIR

System.out.println(rl.equals(ir1)); A

/ (09T nn) |'Pn TR / (N2'on nn) nx Tt No1vn / (?7'nn) nX7'oniy XY
(7a8an N9'X ?09TIN NIFNYT MK NN 709TIN NN) AR QUINN ' TIR

System.out.println(irl.equals(r1)); T

/ (09T nn) |'en TR / (n2'on nn) nxM m noivn / (?'nn) nx7'onig XY
(?axan N9'X 209TIM NI'NY WMX NN 709TIN NN) AR QUIND |'PN TIR

rl =irl;
System.out.println(rl.equals(ir1)

/ (09T nn) |'Pn TR / (n2'on nn) nx M noivn / (?'nn) nx7'onip XY
(7a8an N9'X ?09TIN NIFNYT MK NN 709TIN NN) AR QUINN ' TIR

irl =rl;
System.out.println(rl.equals(ir1));

/ (09Tm nn) |'Pn TR / (N2'on nn) nx Mt No1vn / (?7'nn) nx7'onig XY
(7a8an NO'X ?09TIN NIFNYT MK NN 709TIN ) AR QUINN ' TIR
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TTIA NN 0 0T

wunY
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415321 NX09¥0 17" D'DW TN KIN
NX nwnnn WKR MyList<T> np'7nnn 7im2 122 Ao n'7nnd 1mar 11010RN
'93 Cell <T> o19'0nNn DX 7w NMYIENn nn'w X' MyList .Iterable<T> pwinn

JIRXTN 1'RY

v' .xan Tinyav Uniquelterator -1 MyList nip'7nna honn Tign NR m*'7un
7 IN0I0'KN 7Y remove NNWN WIN'M NX V'RUN7

public class Cell <T> {
private T cont;
private Cell <T> next;

public Cell (T cont, Cell <T> next) {
this.cont = cont;
this.next = next;

}

public T cont() {
return cont;
}

public Cell <T> next() {
return next;
}

public void setNext(Cell <T> next) {
this.next = next;
}
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public class MyList<T> implements Iterable<T> {
private Cell<T> head;

public MyList(T... elements) {
this.head = null;
for (int i = elements.length - 1; i >=0; i--) {
head = new Cell<T>(elements][i], head);
}

class Uniquelterator implements Iterator<T> {

Ian¥na 2wl
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